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QUESTION 1

Your customer has two manufacturing plants. The manufacturing process for both the plants is identical, but there are
differences in specific areas. 

1. 

Plant 1 uses min-max planning and Plant 2 uses re-order point planning. 

2. 

Plant 1 and Plant 2\\'s Variable Lead Times are different. 

3. 

Plant 1 and Plant 2 use two different WIP (Work In Process) supply subinventories. 

Which two attribute control settings meet the requirement? (Choose two.) 

A. Organization Level: WIP Supply Subinventory 

B. Master Level: Stockable, Transactable, Build in WIPOrganization Level: Inventory Planning Method 

C. Organization Level: Variable Lead Time, WIP Supply Subinventory 

D. Master Level: Stockable, Variable Lead Time, Inventory Planning Method Organization Level: Transactable 

E. Master Level: Transactable, Inventory Planning Method, Variable Lead Time 

F. Master Level: WIP Supply Subinventory, Variable Lead Time, Stockable, Transactable, Build in WIP 

Correct Answer: BC 

 

QUESTION 2

Which are the three mandatory fields when defining a supplier bank header? (Choose three.) 

A. Bank 

B. Bank branch 

C. Bank contact 

D. Bank account number 

E. Bank operating account 

Correct Answer: ABD 

 

QUESTION 3
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Which three statements are true about the item master? (Choose three.) 

A. It is possible to copy items across item master organizations. 

B. The item master organization is the centralized repository for all items in different organizations. 

C. It is possible to associate items in one item master organization with another item master organization. 

D. When an attribute control is set at the item master level, updates are not allowed at the item or organization level. 

E. There is no functional or technical difference between the item master organization and other organizations while
transacting on an item. 

F. When an attribute control is set at the item master level, updates can still be made at the item or organization level
but these updates would not propagate back up to the item master level. 

Correct Answer: BDE 

 

QUESTION 4

Your customer completes four production orders on a daily basis. One of the production orders has quality 

problems on some finished-good items. The requirements for this situation are: 

i) Isolate the defective material from the regular production order output. 

ii) The system should prevent this material from being included in external customer order shipments. 

What setup or process can achieve these objectives? 

A. Enable lot control for the item. Store the lot in an isolated subinventory. 

B. Define the lot number as a rejected lot. Store this lot in an isolated subinventory. 

C. Create a reject locator. Move the items to this locator that prevents customer shipment. 

D. Enable lot control for the item. Assign material status that disallows shipping transactions. 

E. Enable serial control for the item. Store the serial control item in a separate subinventory that prevents customer
shipment. 

Correct Answer: D 

 

QUESTION 5

Revision control is set at the organization level. Both Colorado and New York sites have item A under revision control.
Item A was shipped from the Colorado site to the New York site on Internal Order using Revision B. Since that time,
revision control at the Colorado site has been changed to a numeric value and the current revision is 3. Now, New York
is returning item A on an Internal Order with Revision B. What would happen when Colorado attempts to receive this
unit? 

A. Colorado would have to temporarily change revision control to allow receipt. 
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B. The transaction can be processed as normal. Old revisions that were issued are still valid. 

C. Receipt can be transacted, but the new revision number would have to be assigned upon receipt. 

D. New York would have to change revision control to match Colorado for transaction to be successful. 

E. The receipt cannot be transacted without DBA intervention. After the revision is changed, you cannot use a previous
version. 

Correct Answer: B 
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